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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa Claus has 850 gifts. He gave 300 gifts to the
children in the town. How many gifts does Santa
have left?

The Christmas tree is decorated with 700 lights.
200 lights went out. How many lights are still
working on the Christmas tree?

In a Christmas party, 500 cookies were served. The
children ate 300 cookies. How many cookies are
left?

A Christmas store sold 350 Christmas trees in the
morning and 150 more in the afternoon. How many
Christmas trees did the store sell in total?

There are 800 ornaments on the Christmas tree.
300 fell off. How many ornaments are left on the
tree?

Rudolph has 400 candy canes. He gave 200 to his
friends. How many candy canes does Rudolph
have left?

Santa’s sack can hold 1000 presents. He has
already packed 600 presents. How many more
presents can Santa pack into his sack?

8 There are 700 Christmas cards to be delivered. 300
have been delivered. How many Christmas cards

ire left to be delivered?
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